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o7 Qv9d 3 @S] T ¢ — ®Wug-& S. This question booklet is divided ingg,

' CRAL A

ava-x § so awjFre wrr & i 6.

40 977 I &1 e et 401
3w Ty & I |ARA &
wgn 40 300 & & geaieT fEy
Fem! S8F T & o 1 A
Fruiier &1 fﬁ*m?qomm_
@F W Ry m w e @
&I/ it I H 9 fewd o
W& ¥ FDFAT /T QR /
&g / YT AR FT OMR IR-
qAE § HahT T & I[E- G
gRoms swr=r R

FUZ-q 7 qmaifaw famT & I3
FA s favar & og Jada WA ¢
g 577 % v 2 Fw ke &
sfer® 5 6 &g 300G 797 (Q.Nos.
18 6 & fad @ =T aavat &
gae 3 &

T R 0 4 &g 38 5
(Q. Nos. 9 @ 12) & fad @ fat
29771 & Fav 33 ¢

two sections
Section-B.

In Section-A

— Section-A g

there are
80 objective type questions out of
which 40 questions are compulson,,
If the candidale answers more thqg
40 questions, the furst 40 answery
only will be Each

quesiion cames 1 mark. For

evaluated.

answering these darken the correat
circle given on the OMR answer
sheet with black / blue ball pen,
Do not use whitener / liguid
mmerial / blade / nail ete. on

the OMR aensuer sheet otherwlise

the result will be treated
invalid.
., In Section-B there are Short

Answer Type questions of

S subjects of Social! Sctence. Lach
question carmes 2 rmarks.
History has 6 Short Answer Type

questions (Q. Nos. 1 to 6) out of

which any 3 questions arc to be
answered.

Political Sclence has 4 Short
Answer Type questions (Q. Nos.

9 to 12) out of which any
2 questions are to be answered.

[24(M)-H/S-41005-s1/60)]
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(0. Nos. 15 & 18 & frd B
et 20 & 37 3 &
YT 5 6T I T (Q. Nos.
21 & 26 & ) @ frt 3 myt
F v 37 1

(Q. Nos. 297 32 & 777 o i
207 & 3ve 37 &

(Q. Nos. 7, 8, 13, 14, 19, 20, 27 28

&1 IF 997 & fom & HE il

05 i § g% & 0F-0F AvT 1
I 3 ¢

. fre AR & selagitiam ¥ ¢

e e |
24(M)-H/S-4 100581760y |

111)
Economics has 4 Short fI%nswef
Type questions (Q. Nos. 15 to 18)
ouw! of which any 2 guestions are
to be answered.

Geography has 6 Short Answer
Type questions Q. Nos. 21 0 26|
out of which any 3 gquestions are
to be answered.

Disaster Management has

4 Short Answer Type gquestions
(O. Nos. 29 10 32} out of which any
2 questions are to be answered.

Apart from these, there are 8 Long
Answer Type questions (Q. Nos. 7,
8 13, 14,19, 20, 27, 28). Each
question carries 4 marks. One Long
Answer Type guestion each from
History, Politicat Scence, Economucs

and Geograghy ts to be answered.

Use of any electronic appiiances ts

stnctly prohibited.
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oy - A / SECTION - A

wvT Wear 1 @ 80 7w & Ndw WA & Wi 9w fawww v v &, fami v oy
gt 4 FwA gy §F W W@ AEew w5 OMR Wz W Rafem ) du !;

40 x 1 = 4

Question Nos. 1 to 80 have four options each, out of which only one iy

correct. Mark your selected option on the OMR shee!. Answer any
4() guestions.

40 « 1 = 10
(A)  FTH ”
(D) ureE
Which is called the Cradle of Europcan Civilization ?
(A) Greccc (B] Portugal
(C) England (D) Poland
2. &8 ) °Ee A Fd &
(A) SR (B) ¥
€ | (D) ®
24(M)-H/S-41005-(s1/601 Page 4 of 4G
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The Parliament of Russia is called

(Al Dict (B) Parliament

(D) Senate

Where was thec Communist Party of India cstablished ?

(A)  Lucknow (B)  Berlin
(C) Delhi (D) ° Tashkent
ATfeRA A Tt gl wifia ﬁm T2

A) FEifsd@ | (B] %I®
(C) wE (D) frEm

Where was Tonkin free school Fstablishcd ?

(A] Cambodia (B) France
(C) Laos (D) Vietnam
5.
(a) s fored (B) o€ ftwm
C) 7S ZAR (D) @S FA
" [24(M)-H/S-41005-51/60) Page 5 of 40
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Dunng whose reign was the lbert bill passed ?

(Al Lord Lvtton (B) Lord Ripon
(C) Lord Dalhousie (D) Lord Curzon
(D) wu

In which Congress session was the proposal of non-ccoperation

movement adopted ?

(A) Nagpur (B) _ Lahaore
(C) Lucknow | (D) - Karachi
7. TEm & Wow R S gar ?
(A) YT
i /(cr/-;ﬁ% D} <N
In which country did priating start ?
{A) India (B) England
(C) China (D} Germany
g. sy = wwnR fad R o
(A) TS (B) WA AEE
) mdsh (D) =& R
- 24(M)-H /S-4 1005-s1/60, Page 6 of 40
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| 111

Who published ‘Independence’ ?

(A) Annic Besant (B) Motilal Nchru

(C) Gandhijn (D) Martin Luther

Who had thc first government in South Vietnam ?

(A)  Ho Chi Minh (B) ~ Bao Dai

(C) Ngo Dinh Diem (D) " Sihanouk

YYR AT HIH HI §IAL A1 2
(A) . 1854 (B) 1864
(C) 1874 (D) 1884

When was the first Geneva Convention held ?

(A) 1854 (B) 1864

) 1874 (D) 1884

A) TR R (B) Tele TR

(C) WIgRA &I (D) wfegER 99 @R

Page 7 of 40
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13.

|ll|]

Agrinst which law was a4 mecting organised in Jallianwala Bagh 2

(A Hbert Bill (B) Rowlatt Act

(C) Simon Commission (D) Vernacular Press Act
Tt & R wa ol gan ?

(A) 1861 (3) 1871

(C) 1720 (D) 1817

When was the unilication of ltaly completed ?

(A) 1861 ; (B) 1871
(C) 1720 (D) 1817
qﬁﬁ:ﬁ«qﬁméﬂwmmm%

(A) R _(B)" %TE
(C) HfeR™ (D) sl

Louis Philippc was the ruler of which country ?

(A) Germany (B) Francce
(C) Austria (D) ltaly
(A) 1975 (B) 1978
(C) 1980 (D) 1985

24(M)-H/5-41005-(s1/60)
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| HIY )

In which vear was the Intcrnational Women's Day announced ?

(A) 1975 (B) 1978
(C) 1980 (D) 1985
(A) 1995 (B) 1996
(C) 1998 (D) 1999

When did India become a member of the World Tradc

Organization ?

(A) 1995 (B) .-.1996

(C) 1998 (D) 1999

fafew wwm A mideh =) F=0 I § 2

(A) 'B) Fwm-t-fee
(C)  HETH (D) 74 A

What title did the British government give to Gandhiji ?

(A) Knight (B) Kaiser-e-Hind

(C) Mahauna (D) All of these

(A) AEEIM KA
(c) afm amm ameEA
24(M)-H/S-41005-(s1/60 Page 9 of 40
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Which movement was started with Dandi March ?
(A)  Non-coopcration Movement

(B) Quit India Movement

(C) Ciwvil disabedience Movement

(DY Champaran Satyagraha

Which of the following banks was established first ?
(A]  Punjab National Bank (B}  Central Bank of India

(C) Bank of India (D) Indian Bank

Who was Lhe first President of All India Trade Union Congress 2
(A) Bal Gangadhar Tilak (B) Lala Lajpat Rai

(C) Gopal Krishna Gokhale (D) Subhash Chandra Bosc

24(M)-H/S-4100S5-s1/60 Page 10 of 40
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21.

22.

[A) 1002 (B

Wy 1911 (D)

(A) 1902 By 1956
(C) 1911 Dy 1912
Fermefrarer s T WA ferm b o

(A)  FARE (B) =
(C) aafesm (Dj &) j=e=

Where is Simnlipal National Parx loczzec -

(A) Karnataka { (B | o

(C) Odisha (D) Guiare:

Foqme 9] fagy 543 w2 A 2 o

(A)  AHEETS B =

(C) (D) ==
Where is Kalpakkam Nuclear Power Pla-i: sitizied 2

(A) Tamil Nadu (B RKamatakxa

IC) Kerala

24(M)-H/S-41005-is1/600
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e i & 3 TR ot ae w foa T 2

(A

(<)

Which of the following ports is not lo

(A) Tuticarin

(B)

(D)

(B) Marmagao

[ 1)

cated on the eastern coagy >

(C)  Paradip (D) Vishakhapatnam
Fra A} 7 g fnta & w0 22

(A} Sy (B) Tt

(C) 3H (D) " s & i

Which of the following is a factor of soil formation ?

(A) Climmate

(C) Rocks
T THFR 2
(A) g W

(C) |l =1
Aus is a type of
(A) Wheat

(C) Maize

(B)  Vegetation

(D)  All of these

(B) 9M &1
(D) <T
(B) Rice

(D)  Millet

24(M)-H/S-41005-51/60,
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27.

28,

[111]

i 3} & fret @ Hed & @™ Td 2

Which of the following is not the headquarters of any railway

zone ?
(A) Bilaspur (B)  Hajipur
(C) Indore (D) . Kolkata
frr & @ ¥ faris il & ofew A A R 7
(A) [« !

(C) ISl (D). -~ T

Which of the following special economic zones is in West Bengal ?

(B) Santa Cruz

(A) Surat

(C) Kandla (D) Falta

2R e Y TR« 7 A TR - g o
(A) TR (B) e

(C) =¥ (D) &FT

Which is the biggest river valley project of South India ?

(A) Tungabhadra (B) Sharavati

(C) Chambal (D) Hirakud

~[24(M)-H/S-41005-s1/s0; Page 13 of 30
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29. Wid B S & wanrw fFes gro & fem a2

Who started Radio broadcasting in India ?

(A) Radio Club of Dclhi (B) Radio Club of Calcuttia

(C) Akashvani (D) Radio Club of Bombay
(A) 1972 (B) 1985
<) 1992 (DY 1995

When was the First World Summit held  for cnvironmental

pratection ?
(A) 1972 (B) 1985

(C) 1992 (D] 1995

Which district of Bihar is the largest producer of jute ?

(A) Gaya (B) Bhojpur
(C) Purnea (D) Kaimur
24(M)-H/S-41005-1s1/60) Page 14 of 40
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33.

34.

[111]

P 4 3 R “faer @ M= %1 T & 0

(B) maH

(D) ¢
Which of the following is called "Scrrow of Bihar" ?
(A)  Son (B) Gandak
(G} Kosi (D) Punpun
qraEIge & 3e § F1 Tw anft § 2
(A) TS (B) ~ 3nfEwm
(C) FREe (D) &ARH

Which state is leading inthe production ef bauxite ? .

(A) Gujarat (B) Odisha
() Jharkhand (D) Kamataka
I g} =gl 91§ et @ 2

(A) ARQTS (B) TEWR

() ufvan sma (D) 3rEoTEd YW

Where is black soil found ?

(A). Jharkhand (B) Maharashtra

(C) West Bengal (D)  Arunachal Pradesh
¢ [24(M)-H/S-31005-s1/e0) Pagc 15 of 40
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NHT B TR &g v=adsta g9 § /11 2

Bokaro Stcel Plant was built in which Five-Year Plan ?

(A)  Sccond (B) Third

(€) Fourth (D) Fifth

(A)  T&F &1 931

() fewel &

111

Most of the irori and stcel plants were established in which region

,0f India ?

(A) Deccan Platecau (B) Western Coast
(C) Himalayan Region (D)  None of these
(A) G (B) &M

(€ TR

Which of the following is called new alluwvial soil ?
(A) Khadar (B} Bangar

(C) Regur " (D) Allof these

QA(M)—_H /S-41005-5 ue_ul]
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39.

(111

fom wn1 4 fig g ger Hfvs T AW R 2

In which part is mangrove [orest mostly found ?

(A)  North-castern states (B) Sundarban

(C) Western coast (D) Andaman-Nicobar isiands

= 4 3 Y3 yE o gaifus 91 fgias A ?

(A) (B)
(C) dnré™ (D) /58

Which of the following is the largest tca exporting por: in Incia 7
[A)  Kochi (B} Kolkata

(C) Paradip (D) Mumba:

(A) (B)

(C) w3 (D) A

Q. cclii

Which of the following is l!eading in the produc::on

textile ?
(A) Kolkata (B) Nagpur
(C} Mumbai (D) Suyra:

24iM)-H S-31003-1s1/600
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41. REn = BR-a ym gaifes ag @ v |

(Al B I

(C)  =faofi (D) wirash

Which part of Bihar is the most pronce to flood ?

(A)  Eastern (B) Northern

(C) Southern (D) Western
42. TOTA T W WHY FE I ?

(A) 1998 (B) ~ 2001

(C) 2002 (D)’ 12005

When did the severe earthquake occur in Gujarat. ?

(A) 1998 (B). 2001
(C) 2002 (D) 2005
{C) (D)

|
Which scheme has becen launched to prevent the decline of |

|
underground water level ? 1

(A) Rainwater harvesting (B) Watershed management

(C) Drip irrigation (D} Al of these

i

24(M)-t/S-41005-(s1/60) Page 18 of 40
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B o o i) cfoqn fasm k2 ad B 2

-

B) A

Which of the following is a river of south Bihar ?

(A)

(C)

Gandak

Kos)

(B) Son

(D) Kamala

(111

How much does the intensity of carthquake increase after each

unit of the Richter scale ?

(A)

(C)

(A)

(C)

Five times
Ten times
&t

fafam

(B) Scven times

(D) Fifieen times

Which is the 22nd State of India ?

(A)

(C)

Goa

Sikkim

(B) Mizoram

(D) Manmpur

,24(M)-H/S-41005-s1/60) !
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A7,

B e |

By what namec is the mass struggle of 1974 known ?
(A)  Green Revolution (B) Total Revolution
(C) Rainbow Rcvolution (D}’ White Revolution
48. WA, dfen, gareha aws fHw g 8@ m 2
(a)  FmE (B] T4
(C) Huadl qd! D) %™ & &

Moncy, banking, gommunications like matters are kept in which

hst ?
(A) Union List (B) State List
(C) Concurrent List (D) All of these

[24(Mi-H[S-4 1005 -uﬁl;o; Page 20 Of_.l_(_l
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[ 111 ]
What is the 12th schedule of the constitution related 10 ?
(A)  Jurisdiction of municipality
(B)  Income sources of municipal corporation
(C)  Dircclive principles of state

(D)  Fundamental rights

e & @M s et s 1 WA g IRl ww & €9 H
T YR R 2

(A) 20 (8) 2l

(€) 18 (D) 19

How many other languages are recognised-as scheduled languages

by the constitution besides Hindi ?

(A) 20 (B} 21
) 18 (D) 19
(B) WA

(D) ®YH TQ 3
In which country was the foundation of political parties laid for the

first time ?

(A) Britain (B) India

(C) France (D)  United States of Amcrica

24(M)-H/S-41005-s1/60) | Page 21 of 40
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With which states is the Narmada Valley Project related ?

(A)  Gujarat, Rajasthan, Uttar Pradesh

(B) Maharashtra, Goa, Kamataka

(C)  Gujarat, Maharashtra, Madhya Pradesh

(D)  Maharashtra, Madhya Pradesh, Chhattisgarh
(A) 1950 (B) 1958

(C) 1973 (D) 1999

When was the West Indies Federation established ?

(A) 1950 (B) 1958

(C) 1973 (D} 1999

(A s=HR 31

(C)  ¥{IE 40

o —

[24(M)-11/S-41005-81/60) Page 22 aof WU
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In which article of the constitution has the local self government

been given a place ?

(A)  Article 31 (B) Article 35
(C)  Article 40 (D) Article 42

A) R | (B8) UINfaw e

() wifers afusn (D) Hf-fAewes aa

Which of the following has been called the lifeline of democracy’ ?

(A)  Local self government  (B) = Political parties

(C) Fundamental Rights (D)  Directive Principles
s6. faa d @ % HicE wws crmen 2

(A) ¥Ta (B) g
(C) EF® U Mt (D) agfem

Which of the following has a unitary system of government ?

(A) India

(B) England

(C)  United States of America

(D) Australia

24(M)-H/S-41005-(s1/60) " Page 23 of 40
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ll“l
fr= 7 | frmd figfw o= e w2 2

Who of the following is appointed by the state government ?

(A) Mayor (B) Mukhiya

(C) City Commissioner (D) All of them

In which of the following systems, there is a possibility of forming a

coalition government ?

(A) Onec-party system (B) Two-party system

{C)  Mult-party system (D) None of these

= g 9 =1 &34 @WW@WW"“??

24(M)-H/S-41005-(s1/60)
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Which of the Tollowing is 1 bod result of the spirit of regionalism ?

(A} Fondness of own region (8)  Scparatism

(C)  National interest (D) National integrity

apidutetas veifusml ) Py wel @ sid) @ 2

ol).

(A) T 9ER (B) TR fm

Where is the executive olficer appointed ?

(A) Gram Panchayat (B) ~Municipal Corporation

(C) Nagar Panchayat (D) | ‘Nagar-Parishad

(A) afcaam (B) . Ja0 IS

(C) srffn (D) A9

In where of the following was thc social division based on

language ?

(A) Belgium (B)  Northern Ireland

(C) Bolivia (D) Ncpal
(A) 1945 (B) 1946
© 1947 (D) 1948
o 2A(M]-H1/S-41005 1780 Page 25 0140
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65.

when was the Constituent Assembly formed ?

(A) 1945 (B) 1946
(C) 1947 (D) 1948
AT AN T TS He €A P

(A) 1948 (B) 1950

(C] 1952 (D) 1954

When was the Planning Commission formed ?

(A) 1948 (B) 1950
(C) 1952 S (DY 1954
(A} W3, 2000 (B) 3I4, 2001
(C) IdA, 2002 (D) 3FE, 2005

| 11

When was the [irst Human Development Report of India releascd ?

(A)  May 2000 (B) April 2001

(C)  April 2002 (D)
7 @ fFuko # Fad ueve fead fom >
(A)  dgesR wfifd (B) -

(D) H#fq amam

August 2005

[24{M)-H/S-41 005-is1/60)
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Who gave the calorie criteria for determining the poverty line ?

(A) Tendulkar Committee

(B) Planning Commission

(C) National Development Council
(D)  NITI Aayog

R #1 TRafE =T wgdm @ ?

66.
(A) = B) T
(C) ™ (D)~ &
What is the remuneration of land called ?
(A) Interest (B) . Wages
(C) Profit (D) Rent
67 WRa w1 gaifts ufd fd g a1 TS I R 7
(A) T (B) W
(C) deTAl (D) Ales
Which state of India has the highest per capita Income ?
'/w Goa (B) Punjab
(C) Telangana (D)  Kamataka
24(M)-H/S-41005-s1/601 Page 27 of 40
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68. 0 H W F aix O ¢ § Ifen W W THA W E@S @ s,

(D) Y& V¥R 3R

What is the monetary value of all final goods and services produce.-

within a country in a year called ?
(A)  Gross National Product (B]  Gross Domestic Product

(C) Net Domestic product (D] Net/National product

(A) (B)
(C) (D)

Which was formed wunder the chairmanship of Prof. P. (

Mahalanobis ?

(A)  Central Statistical Organization
(B) Human Development Index

(C) National Income Committee

(D) Planning Commission

124(M)-H/S-41005-51/eq) Page 28
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(A) W9
(c) difrem

Rupcce is the currency of which of the following countrizs ©

(A) India (B) Nepal
(C) Pakistan (D) Allof these
q9a TR 2

(A)  ITNM q g9d FI AT (B)  AE AL M W 5

(C) 3WNM qen IQRA 1 HR (D)~ 3T RIS A

What is saving ?

(Al Differencc bctween consumption and saving
(B) Difference between income and consumpuon

(C) Difference between consumption and production

(D) Nonec of these

fodasmg@aa A R?

@A) ¥F (B) 3R
) arfufad (D) A a3

Which of the following is not a letter of credit ?

(A) Cheque (B] Bankdrait

(C) Overdraft (D)  Promissony noe

24{M)-H/S-31005 151760/ _
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(D) 3%3d g mh
Which of the following is a part of capital market ?

(A)  Securitics market

(B) Industrial market

(C) Development financial institution

(D)  All of these

(A) 1904 (B)" 1912
(C) 1914 (Dy 1919

When was the Cooperative Credit Society Act passed ?

(A) 1904 (B) 1912
(C) 1914 (D) 1919
{C) A u3
—_—
24(M)-H/S-41005-i51/60) Page 30 ¢~
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Which  sector contributes the most 1o I[ndia's Gross Domestic

Product (GDP) ?

(A)  Agniculture sector (B)  Industrial scctor
(C)  Scrvice sector (D)  None of these
wid 3 LPG fy e TS M 2

(A) 1990 (B 1991

(C) 1995 (D) -~ 2001

When was the LPG policy.adopted in-India ?

(A) 1990 (B) 1991
(C) 1995 (D) [ 2001

@4 &) fou &3 d mfaa < € 2

(A) TR & (B) e &3
(C) A4 &3 (D) =9 @ g TH

Mining 1s included in which sector ?

(A)  Agriculture sector (B) Industrial scctor

(D) Nonc of these

(C)  Scrvice sector
() F9E (B) ufnffagl =1 wa-faswa &=
Pagc 31 of 40
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Which is the agency functuon of commercial bank ?

|
(A) To give loan

(B)

Buying and selling of securitics

(C) To provide locker

(D) To accept deposits

(A) -

What is the basic element of cooperatve ?

(A) Mutual cooperation (B) ' Voluntary membership

(C) Democratic functioning (D) All of these

(C) =94

Which of the following leads to capital formation ?

(A) Consumption (B) Exchange
(C) Saving (D) Investment ]
24(M)-K/S-4 1005-(51/50) Page 320
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R
slamta 7/ Mintory

s Indlu uyn / Bhorl Anawer Type Questiona

exe weur I N & as qy aveta Ao gad o el 2wl & e 41 e e 4

7
> /
3 V]
7z
State the reasons o the rise of nationalisem in Vielnarn,
2 2
&) ;’.
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T W 7 3K 8 2T aerdia &1 gT W fei 0E T IV TN AOE T 7 14

Quesrion Nos. 7 and 8 are Long Answer Type. Answer any one af ten

Each question carries 4 marks.

~
(

-

Discuss the causes and effects of the rise of nauonalism 1n Extrooe

Discuss the contribution.of the Indian National Congress in ---

Indian National Movement.
TS| B{aE / Political Science
b I W / Short Answer Type Questions
0¥ & 9« 12d% aG I §1 399 @ 57T 29%7 & Fav &1 TiE
& forg 2 ofa Fraff &1 |

Question Nos. 9 ta 12 are Short Answer Type. Answer any 2 questicrs
| |

Each question carries 2 marks.

9. ‘

How is communalism a threat to democracy 2 '.

-:_2_‘3LM+HZS'4IOOS-(31,

L
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State the jurisdiction of the village court.

What is the utility of opposition party in a democracy ?

Explain the difference between Federal and Unitary government

systems.

S 3adta 9y / Long Answer Type Questions
VT G 13 0T 14 309 3w &1 379 |/ 5 vE FT 39w &1 9<E TV &
fwr 4 JF o & l1x4=24
Question Nos. 13 and 14 are Long Answer Type. Answer any one of them.

Each question carrtes 4 marks. I x4 =4

How is the Federal systerm helpful in National integration 2
~

Describe.

-

Describe the cffects of communal and caste differences on the

politics of India.
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™Y IWT WYT / Short Anawer Type Questions

F fory 2 ofF faffRa #4

Question Nos. 15 to 18 are Short Answer Type. Answer any 2 guestions,

Each guestion carnies 2 marks.

2
State the components of Human Development Index.
2
Why is sustainable development necessary ?
2

Explain the difference between cheque and bank dralt.

Explain the four rights of the consumer under the Consumer

Protection Act.
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et 3wda v / Long Answer Type Questions

TT BN 19 U7 20 2 T §1 7 R 50 vF &7 3¢ I udm T &

fav 4 siF it Ix4=4
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.
Each question carries 4 marks. I x4=4

4

Discuss the main functions of commercial banks.

What is saving ? Discuss the factors affecting saving.

Tﬁﬁ / Geography
Y 3G WA / Short Answer Type Qucstions

AT @& 214 26 A% &g IIT &1 377 | [FT 3@ & Iav T AT 09T

& T 2 3+ Faffa & | Ix2=6
Question Nos. 2‘1 to 26 are Short Answer Type. Answer any 3 questions.
Each question carries 2 marks. 3x2=6
2
Name four main national waterways of [ndia.

2

Write a shorl note on the utility of resource conservation.
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Write the characterinticn of delus aol.

Diffcrentiate between agro-baned and minersl Vassed induninieg

25. ®R Rie w1 wrgr e & 2

Why is bulffer stock created ?

What 1s the importance of border roads 7

g il WA Long Answer Type Questions

Question Nos. 27 and 28 are Long Answer Type. Ansuer any one of them,

.Each question carries 4 marks.

-"

Mention the measures to increasce the forest wealth in Indis.

)

Write a short nolc on the impact of globalization on Indian

agriculturc.
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I WEYT / Disaster Management

Y IR0g W99 [/ Short Answer Type Questions
7y 589 29 ¥ 332 7% oy A i FW & BA 20wt & gav &1 o v
& Iy 2 %% Fuiffa & 2x2=4
Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions.

Each question cames 2 marks.

Name the alternative comununicatlion mecans used Iin natural

calamilties.

2
Mention the damages caused by fleod.

2
State the causes of drought.

2
What types ol houscs are built in carthquake prone arcas ?
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